# SEQUENTIAL ESTIMATIONS OF SOME VECTOR IN LINEAR REGRESSION MODEL UNDER A LINEX LOSS 

Hisao Nagao

Received September 28, 2001; revised February 12, 2002


#### Abstract

We consider two sequential problems: minimum risk problem and bounded risk problem under linex loss function. We shall show that the least square estimate in linear regression model is improved by another estimator asymptotically.


## 1. Introduction

In this paper, we consider the problem of estimating sequentially under LINEX loss function, the vector of regression parameters in a linear regression model in which the errors are assumed to be independent and identically distributed as normal with mean 0 and unknown variance. The LINEX loss function was first proposed by Varian (1975) who showed that it is asymptotically equivalent to the squared loss function and thus provides a more general loss function. Also Zellner (1986) has considered the problem under the asymmetric loss function. Recently Takada and Nagao (2001) considered the problem of estimating the mean vector of a multivariate normal distribution under LINEX loss function when the covariance is unknown. In this paper, we obtain the results for regression parameters. It is shown that the least square estimate of the vector of regression parameters under LINEX loss function is not asymptotically admissible by providing an improved estimator. It may be noted that this problem differs from obtaining sequentially fixed radius confidence intervals for the mean vector and vector of regression parameters considered by Srivastava (1967, 1971) and Nagao and Srivastava (2001).

## 2. Linear regression model

We consider the model $y_{i}=x_{i}^{\prime} \beta+\epsilon_{i}$, where known $x_{i}$ and unknown $\beta=\left(\beta_{1}, \cdots, \beta_{p}\right)^{\prime}$ are $p \times 1$ vectors and $\epsilon_{i}(i=1,2, \cdots)$ are i.i.d. random variables having a normal distribution with mean zero and variance $\sigma^{2}$. We assume that the rank of $X_{n}=\left(x_{1}, \cdots, x_{n}\right)^{\prime}$ is $p(\leq n)$. Here we use the following loss function when we have sample size $n$.

$$
L\left(d^{(n)}, \beta\right)=\sum_{i=1}^{p} b_{i}\left\{\exp \left(a_{i}^{(n)}\left(d_{i}^{(n)}-\beta_{i}\right)\right)-a_{i}^{(n)}\left(d_{i}^{(n)}-\beta_{i}\right)-1\right\}
$$

where $a_{i}^{(n)}=a_{i} /\left(n w_{i i, n}\right)^{1 / 2}(i=1, \cdots, p)$ with $\left(X_{n}^{\prime} X_{n}\right)^{-1}=\left(w_{i j, n}\right)$ and $b_{i}>0$ and $a_{i} \neq 0$ are known values. Also $d^{(n)}=\left(d_{1}^{(n)}, \cdots, d_{p}^{(n)}\right)^{\prime}$ is estimate of $\beta$ based on sample size $n$. When $\sigma^{2}$ is known, we consider the estimate $d^{(n)}=\hat{\beta}_{n}-\frac{\lambda_{n}}{2 n}$, where $\hat{\beta}_{n}=\left(X_{n}^{\prime} X_{n}\right)^{-1} X_{n}^{\prime} Y_{n}$ with $Y_{n}=\left(y_{1}, \cdots, y_{n}\right)^{\prime}$ and $\lambda_{n}=\sigma^{2}\left(a_{1}\left(n w_{11, n}\right)^{1 / 2}, \cdots, a_{p}\left(n w_{p p, n}\right)^{1 / 2}\right)^{\prime}$. Here we note that $\hat{\beta}_{n}$ is a least square estimator of $\beta$. Then we have $\mathrm{E} L\left(d^{(n)}, \beta\right)=\sum_{i=1}^{p} b_{i} \frac{a_{i}^{2} \sigma^{2}}{2 n}$. On the other hand, $\mathrm{E} L\left(\hat{\beta}_{n}, \beta\right)=\sum_{i=1}^{p} b_{i}\left\{\exp \left(\frac{a_{i}^{2} \sigma^{2}}{2 n}\right)-1\right\}$. Since $\mathrm{E} L\left(d^{(n)}, \beta\right)<\mathrm{E} L\left(\hat{\beta}_{n}, \beta\right), \hat{\beta}_{n}$ is

[^0]not admissible. We consider the case that $\sigma^{2}$ is unknown. Let $\tilde{\beta}_{n}=\hat{\beta}_{n}-\frac{\hat{\lambda}_{n}}{2 n}$, where
\[

$$
\begin{aligned}
\hat{\lambda}_{n}=\hat{\sigma}_{n}^{2}\left(a_{1}\left(n w_{11, n}\right)^{1 / 2}\right. & \left., \cdots, a_{p}\left(n w_{p p, n}\right)^{1 / 2}\right)^{\prime} \text { with } \hat{\sigma}_{n}^{2}=\frac{1}{n-p} \sum_{i=1}^{n}\left(y_{i}-x_{i}^{\prime} \hat{\beta}_{n}\right)^{2} \\
\mathrm{E} L\left(\tilde{\beta}_{n}, \beta\right) & =\sum_{i=1}^{p} b_{i} \mathrm{E}\left\{\exp \left(\frac{a_{i}^{2}}{2 n}\left(\sigma^{2}-\hat{\sigma}_{n}^{2}\right)\right)+\frac{a_{i}^{2} \sigma^{2}}{2 n}-1\right\} \\
& =\sum_{i=1}^{p} b_{i}\left\{\exp \left(\frac{a_{i}^{2} \sigma^{2}}{2 n}\right)\left(1+\frac{a_{i}^{2} \sigma^{2}}{n(n-p)}\right)^{-(n-p) / 2}+\frac{a_{i}^{2} \sigma^{2}}{2 n}-1\right\} .
\end{aligned}
$$
\]

Since $\left(1+\frac{a_{i}^{2} \sigma^{2}}{2 n \nu}\right)^{-\nu} \leq\left(1+\frac{a_{i}^{2} \sigma^{2}}{2 n}\right)^{-1}$ for $\nu>0$, we have

$$
\mathrm{E} L\left(\hat{\beta}_{n}, \beta\right)-\mathrm{E} L\left(\tilde{\beta}_{n}, \beta\right) \geq \sum_{i=1}^{p} b_{i} \frac{\ell_{i}}{1+\ell_{i}}\left\{\exp \left(\ell_{i}\right)-\ell_{i}-1\right\} \geq 0
$$

with $\ell_{i}=\frac{a_{i}^{2} \sigma^{2}}{2 n}$. Thus $\hat{\beta}_{n}$ is not admissible.

## 3. Sequential estimators

We shall show that the least square estimate is asymptotically improved by another estimate even if we are in considering the estimate problem of $\beta$ in sequential situations. At first we consider the problem of finding the sample size such that $R_{n}=\mathrm{E} L\left(d^{(n)}, \beta\right)+c n$ minimizes where positive number $c$ is a cost of one sample. We call this problem a minimum risk problem in this paper. Then we have $R_{n}=\sum_{i=1}^{p} b_{i} \frac{a_{i}^{2} \sigma^{2}}{2 n}+c n$. The minimum sample size is $n_{c}=\left(\frac{\sigma^{2}}{2 c} \sum_{i=1}^{p} b_{i} a_{i}^{2}\right)^{1 / 2}=\left(\frac{A}{2 c}\right)^{1 / 2} \sigma$, where $A=\sum_{i=1}^{p} b_{i} a_{i}^{2}$. Then we have $R_{n_{c}}=2 c n_{c}$. Unfortunately $\sigma^{2}$ is unknown. So we define the stopping time

$$
T_{c}=\inf \left\{n \geq m \left\lvert\, n \geq \ell_{n}\left(\frac{A}{2 c}\right)^{1 / 2} \hat{\sigma}_{n}\right.\right\}
$$

where $m>p$ and $\ell_{n}=1+\frac{\ell}{n}+o\left(n^{-1}\right)$. When $T_{c}=n$, we estimate $\beta$ by $\tilde{\beta}_{n}=\hat{\beta}_{n}-\frac{\hat{\lambda}_{n}}{2 n}$. Let $R_{T_{c}}=\mathrm{E}\left\{L\left(\tilde{\beta}_{T_{c}}, \beta\right)+c T_{c}\right\}$. We evaluate the regret $R_{T_{c}}-R_{n_{c}}$ in the later. Next we consider another problem. Let $W>0$ be a known positive number. We want that $\mathrm{E}\left(d^{(n)}, \beta\right) \leq W$, then $n_{W}=\frac{A}{2 W} \sigma^{2}$. Also this problem is called a bounded risk problem. Thus we define with $m>p$

$$
T_{W}=\inf \left\{n \geq m \left\lvert\, n \geq \ell_{n} \frac{A}{2 W} \hat{\sigma}_{n}^{2}\right.\right\}
$$

The following two lemmas were used by Albert(1966) and Srivastava (1967, 1971) for sequentially obtaining fixed radius confidence intervals for the mean vector and the vector of regression parameters. They have extended Chow and Robbins (1965) to the linear regression parameters.

Lemma 3.A. $\hat{\beta}_{n}$ and $\left\{\hat{\sigma}_{m}^{2}, \cdots, \hat{\sigma}_{n}^{2}\right\}$ are independent for $m>p$, where $\hat{\sigma}_{k}^{2}=\frac{1}{k-p} \sum_{i=1}^{k}\left(y_{i}-\right.$ $\left.x_{i}^{\prime} \hat{\beta}_{k}\right)^{2}$ with $\hat{\beta}_{k}=\left(X_{k}^{\prime} X_{k}\right)^{-1} X_{k}^{\prime} Y_{k}$.
An outline of proof. Since $\left(y_{1}-x_{1}^{\prime} \hat{\beta}_{k}, \cdots, y_{k}-x_{k}^{\prime} \hat{\beta}_{k}\right)^{\prime}=\left(I_{k}-X_{k}\left(X_{k}^{\prime} X_{k}\right)^{-1} X_{k}^{\prime}\right) Y_{k}$, then $\operatorname{Cov}\left(\hat{\beta}_{n},\left(I_{k}-X_{k}\left(X_{k}^{\prime} X_{k}\right)^{-1} X_{k}^{\prime}, 0\right) Y_{n}\right)=\sigma^{2}\left(X_{n}^{\prime} X_{n}\right)^{-1} X_{n}^{\prime}\binom{I_{k}-X_{k}\left(X_{k}^{\prime} X_{k}\right)^{-1} X_{k}^{\prime}}{0}$. Let $X_{n}=\binom{X_{k}}{\tilde{X}_{n-k}}$, then $X_{n}^{\prime}\binom{I_{k}-X_{k}\left(X_{k}^{\prime} X_{k}\right)^{-1} X_{k}^{\prime}}{0}=\left(X_{k}^{\prime}, \tilde{X}_{n-k}^{\prime}\right)$
$\times\binom{ I_{k}-X_{k}\left(X_{k}^{\prime} X_{k}\right)^{-1} X_{k}^{\prime}}{0}=X_{k}^{\prime}-X_{k}^{\prime}=0$. Thus $\hat{\beta}_{n}$ and $\hat{\sigma}_{k}^{2}(k=m, \cdots, n)$ are independent.

Lemma 3.B. Let $\tilde{\sigma}_{n}^{2}=(n-p) \hat{\sigma}_{n}^{2}$, then we have $\tilde{\sigma}_{n}^{2}=U_{1}+\cdots+U_{n-p}$, where $U_{i}(i=$ $1, \cdots, n-p$ ) are independent and identically distributed random variables and each distribution is $\sigma^{2}$ times chi-square distribution with one degree of freedom.
An outline of proof. Let $C_{k}=\left(X_{k}^{\prime} X_{k}\right)^{-1}$, then we have $C_{n}=C_{n-1}-\frac{1}{1+\Delta_{n}} C_{n-1} x_{n} x_{n}^{\prime} C_{n-1}$, where $\Delta_{n}=x_{n}^{\prime} C_{n-1} x_{n}$. Then $\hat{\beta}_{n}=\hat{\beta}_{n-1}+\frac{1}{1+\Delta_{n}} C_{n-1} x_{n}$ $\times\left(y_{n}-x_{n}^{\prime} \hat{\beta}_{n-1}\right)$. Then we have

$$
\begin{aligned}
\tilde{\sigma}_{n}^{2} & =(n-p) \hat{\sigma}_{n}^{2}=\tilde{\sigma}_{n-1}^{2}+\frac{1}{1+\Delta_{n}}\left(y_{n}-x_{n}^{\prime} \hat{\beta}_{n-1}\right)^{2}=\frac{1}{1+\Delta_{n}}\left(y_{n}-x_{n}^{\prime} \hat{\beta}_{n-1}\right)^{2} \\
& +\frac{1}{1+\Delta_{n-1}}\left(y_{n-1}-x_{n-1}^{\prime} \hat{\beta}_{n-2}\right)^{2}+\cdots+\frac{1}{1+\Delta_{p+1}}\left(y_{p+1}-x_{p+1}^{\prime} \hat{\beta}_{p}\right)^{2} .
\end{aligned}
$$

Since $\frac{1}{\sqrt{\left(1+\Delta_{k}\right)}}\left(y_{k}-x_{k}^{\prime} \hat{\beta}_{k-1}\right)$ is a normal distribition with mean zero and variance $\sigma^{2}$, we have desired result by Hogg-Craig's theorem (1958) or Craig's (1943) theorem. Also see, e.g. Srivastava and Khatri (1979, p.67).

Thus we define

$$
t_{a}=\inf \left\{n \geq m-p \mid \sum_{i=1}^{n} U_{i}<a n^{\alpha} L(n)\right\},
$$

where $L(n)=1+\frac{L_{0}}{n}+o\left(n^{-1}\right)$. Stopping time of this kind has been introduced by Woodroofe (1977).

Let $N_{a}=t_{a}+p$. Then $N_{a}=T_{c}$ or $N_{a}=T_{W}$,
for $T_{c}, a=\frac{2 c}{A}, L_{0}=2(p-\ell), n_{a}=\left(\frac{A}{2 c}\right)^{1 / 2} \sigma, \alpha=3$,
and for $T_{W}, a=\frac{2 W}{A}, L_{0}=p-\ell, n_{a}=\left(\frac{A \sigma^{2}}{2 W}\right), \alpha=2$.
Let $\gamma=\frac{1}{1-\alpha}$ and $n_{a}=\left(\frac{\sigma^{2}}{a}\right)^{\gamma} . F(x)=\operatorname{Pr}\left(U_{1} \leq x\right) \leq B x^{1 / 2}$ for $x \geq 0$. From Woodroofe (1977), we have the following lemmas.

Lemma 3.1. When $a \rightarrow 0$, we have $\frac{N_{a}}{n_{a}} \rightarrow 1, \frac{N_{a}-n_{a}}{\sqrt{n_{a}}} \rightarrow N\left(0,2 \gamma^{2}\right)$.

Lemma 3.2. For $0<\epsilon<1$, we have $\operatorname{Pr}\left(N_{a} \leq \epsilon n_{a}\right)=O\left(n_{a}^{-(m-p) /(2 \gamma)}\right)$.

Lemma 3.3. If $\frac{1}{2}(m-p)>\gamma$, then we have $\left(\frac{N_{a}-n_{a}}{\sqrt{n_{a}}}\right)^{2}$ is uniformly integrable.
Lemma 3.4. If $\frac{1}{2}(m-p)>2 \gamma$, then we have $\lim _{a \rightarrow 0} \mathrm{E}\left\{\frac{\left(N_{a}-n_{a}\right)^{2}}{N_{a}}\right\}=2 \gamma^{2}$.
Let $R_{a}=a t_{a}^{\alpha} L\left(t_{a}\right)-\sum_{i=1}^{t_{a}} U_{i}$, the $R_{a}$ converges in law to $H$ and $\nu=\mathrm{E}(H)=$ $\frac{\gamma \sigma^{2}}{2}\left[(\alpha-1)^{2}+2\right]-\sum_{n=1}^{\infty} n^{-1} \mathrm{E}\left(\left(S_{n}-n \alpha \sigma^{2}\right)^{+}\right)$, where $S_{n}=\sum_{k=1}^{n} U_{k}$.

Lemma 3.5. If $\frac{1}{2}(m-p)>\gamma$, we have

$$
\mathrm{E}\left(t_{a}\right)=n_{a}+\gamma \nu-\gamma L_{0}-\alpha \gamma^{2}+o(1)
$$

From the Lemma 3.A, we have

$$
\begin{align*}
\mathrm{E} L\left(\tilde{\beta}_{N}, \beta\right) & =\sum_{i=1}^{p} b_{i} \mathrm{E}\left\{\exp \left(\frac{a_{i}^{2}}{2 N}\left(\sigma^{2}-\hat{\sigma}_{N}^{2}\right)\right)+\frac{a_{i}^{2} \hat{\sigma}_{N}^{2}}{2 N}-1\right\}  \tag{3.1}\\
& =\sum_{i=1}^{p} b_{i} \mathrm{E}\left\{\exp \left(\frac{a_{i}^{2}}{2 N}\left(\sigma^{2}-\hat{\sigma}_{N}^{2}\right)\right)+\frac{a_{i}^{2}}{2 N}\left(\hat{\sigma}_{N}^{2}-\sigma^{2}\right)-1\right\}+\mathrm{E}\left(\frac{A \sigma^{2}}{2 N}\right)
\end{align*}
$$

Proposition 3.1. If $\frac{1}{2}(m-p)>2 \gamma$, we have

$$
\mathrm{E} L\left(\tilde{\beta}_{N}, \beta\right)=\mathrm{E}\left(\frac{A \sigma^{2}}{2 N}\right)+o\left(n_{a}^{-2}\right)
$$

Proof. From (3.1), we shall show that

$$
\mathrm{E}\left\{\exp \left(\frac{a_{i}^{2}}{2 N}\left(\sigma^{2}-\hat{\sigma}_{N}^{2}\right)\right)+\frac{a_{i}^{2}}{2 N}\left(\hat{\sigma}_{N}^{2}-\sigma^{2}\right)-1\right\}=o\left(n_{a}^{-2}\right)
$$

Let $C=\left\{N>\epsilon n_{a}\right\} \cap\left\{\left|\hat{\sigma}_{N}^{2}-\sigma^{2}\right| \leq \delta\right\}$ for $0<\epsilon<1, \delta>0 . \bar{C}$ stands for the complement of $C . \operatorname{Pr}(\bar{C}) \leq \operatorname{Pr}\left(N \leq \epsilon n_{a}\right)+\operatorname{Pr}\left(\sup _{n \geq \epsilon n_{a}}\left|\hat{\sigma}_{n}^{2}-\sigma^{2}\right|>\delta\right)$. Since $\left\{\left|\hat{\sigma}_{n}^{2}-\sigma^{2}\right|^{q}\right\}$ is a reverse submartingale for $q>1$, then

$$
\operatorname{Pr}\left(\sup _{n \geq \epsilon n_{a}}\left|\hat{\sigma}_{n}^{2}-\sigma^{2}\right|>\delta\right) \leq \frac{1}{\delta^{2 q}} \mathrm{E}\left(\hat{\sigma}_{n}^{2}-\sigma^{2}\right)^{2 q}=O\left(n_{a}^{-q}\right)
$$

for any number $q>1$. By Lemma 3.2, $\operatorname{Pr}(\bar{C})=O\left(n_{a}^{-(m-p) /(2 \gamma)}\right)$.
Let $f=\exp \left(-\frac{a_{i}^{2}}{2 N}\left(\hat{\sigma}_{N}^{2}-\sigma^{2}\right)\right)+\frac{a_{i}^{2}}{2 N}\left(\hat{\sigma}_{N}^{2}-\sigma^{2}\right)-1$ and $\mathrm{E}(f)=I+I I$, where $I=\int_{C} f d P$ and $I I=\int_{\bar{C}} f d P$. Then we have

$$
I=\int_{C} \frac{1}{2}\left(\frac{a_{i}^{2}\left(\hat{\sigma}_{N}^{2}-\sigma^{2}\right)}{2 N}\right)^{2} \exp \left(\Delta_{N}\right) d P=\left(\frac{a_{i}^{4}}{8 n_{a}^{3}}\right) \int_{C}\left(\frac{n_{a}}{N}\right)^{3} N\left(\hat{\sigma}_{N}^{2}-\sigma^{2}\right)^{2} \exp \left(\Delta_{N}\right) d P
$$

where $\left|\Delta_{N}\right| \leq \frac{a_{i}^{2}\left|\hat{\sigma}_{N}^{2}-\sigma^{2}\right|}{2 N} \leq \frac{a_{i}^{2} \delta}{2 m}$ on $C$. Also $\left(\frac{n_{a}}{N}\right)^{3} N\left(\hat{\sigma}_{N}^{2}-\sigma^{2}\right)^{2} \exp \left(\Delta_{N}\right)$ is uniformly integrable on $C$ and converges in law to $2 \sigma^{4} \chi_{[1]}^{2}$. Therefore $I=O\left(n_{a}^{-3}\right)$. For $I I$,

$$
\begin{aligned}
& I I=\int_{\bar{C}} f d P \leq \int_{\bar{C}}\left\{\exp \left(\frac{a_{i}^{2} \sigma^{2}}{2 N}\right)+\frac{a_{i}^{2}\left|\hat{\sigma}_{N}^{2}-\sigma^{2}\right|}{2 m}\right\} d P \\
& \leq \exp \left(\frac{a_{i}^{2} \sigma^{2}}{2 m}\right) \operatorname{Pr}(\bar{C})+\frac{a_{i}^{2}}{2 m} \int_{\bar{C}}\left|\hat{\sigma}_{N}^{2}-\sigma^{2}\right| d P .
\end{aligned}
$$

By Hölder's inequality, we have for $1 / r+1 / s=1$ with $r, s>0$,

$$
\int_{\bar{C}}\left|\hat{\sigma}_{N}^{2}-\sigma^{2}\right| d P \leq K^{1 / r}\{\operatorname{Pr}(\bar{C})\}^{1 / s},
$$

where $K=\mathrm{E}\left|\hat{\sigma}_{N}^{2}-\sigma^{2}\right|^{r}<\infty$ for $r>1$. Then we have $I I=O\left(n_{a}^{-(m-p) /(2 \gamma s)}\right)$. From the assumption, there exists $s>1$ such that $(m-p) /(2 \gamma s)>2$. Thus $I I=o\left(n_{a}^{-2}\right)$.

Proposition 3.2. If $\frac{1}{2}(m-p)>2 \gamma$, we have

$$
\mathrm{E} L\left(\hat{\beta}_{N}, \beta\right)=\frac{1}{8}\left(\sum_{i=1}^{p} a_{i}^{4} b_{i} \sigma^{4}\right) n_{a}^{-2}+\mathrm{E}\left(\frac{A \sigma^{2}}{2 N}\right)+o\left(n_{a}^{-2}\right) .
$$

Proof. Let $Y_{i}=\frac{a_{i}^{2} \sigma^{2}}{2 N}$, then

$$
\mathrm{E} L\left(\hat{\beta}_{N}, \mu\right)=\sum_{i=1}^{p} b_{i} \mathrm{E}\left\{\exp \left(Y_{i}\right)-1\right\}=\sum_{i=1}^{p} b_{i} \mathrm{E}\left\{\exp \left(Y_{i}\right)-Y_{i}-1\right\}+\mathrm{E}\left(\frac{A \sigma^{2}}{2 N}\right) .
$$

We show

$$
\begin{equation*}
\mathrm{E}\left\{\exp \left(Y_{i}\right)-Y_{i}-1\right\}=\frac{1}{8} a_{i}^{4} \sigma^{4} n_{a}^{-2}+o\left(n_{a}^{-2}\right) \tag{3.2}
\end{equation*}
$$

The 1.h.s. of $(3.2)=E\left\{\frac{1}{2} Y_{i}^{2} \exp \left(\Delta_{N}^{\prime}\right)\right\}=\frac{a_{i}^{4} \sigma^{4}}{8 n_{a}^{2}} \mathrm{E}\left\{\left(\frac{n_{a}}{N}\right)^{2} \exp \left(\Delta_{N}^{\prime}\right)\right\}$, where $\left|\Delta_{N}^{\prime}\right| \leq Y_{i} \leq \frac{a_{i}^{2} \sigma^{2}}{2 m}$.
Since $\mathrm{E}\left\{\left(\frac{n_{a}}{N}\right)^{2} \exp \left(\Delta_{N}^{\prime}\right)\right\}=I+I I$, where

$$
I=\int_{N<\epsilon n_{a}}\left(\frac{n_{a}}{N}\right)^{2} \exp \left(\Delta_{N}^{\prime}\right) d P \text { and } I I=\int_{N \geq \epsilon n_{a}}\left(\frac{n_{a}}{N}\right)^{2} \exp \left(\Delta_{N}^{\prime}\right) d P
$$

then we have

$$
I \leq\left(\frac{n_{a}}{m}\right)^{2} \exp \left(\frac{a_{i}^{2} \sigma^{2}}{2 m}\right) \operatorname{Pr}\left(N<\epsilon n_{a}\right)=n_{a}^{2} O\left(n_{a}^{-(m-p) /(2 \gamma)}\right)=o(1)
$$

In $\left\{N \geq \epsilon n_{a}\right\},\left(\frac{n_{a}}{N}\right)^{2} \exp \left(\Delta_{N}^{\prime}\right)$ is uniformly integrable and converges to 1 in probability. Thus $I I=1+o(1)$.

## 4. Minimum risk problem and bounded risk problem

For minimum risk problem, we have $a=\frac{2 c}{A}, L_{0}=2(p-\ell), n_{c}=\left(\frac{A}{2 c}\right)^{1 / 2} \sigma$, $\alpha=3$ and $\gamma=\frac{1}{2}$.

Theorem 4.1. If $m>p+2$, we have

$$
\mathrm{E}\left(T_{c}\right)=n_{c}+\frac{1}{2} \nu_{1}+\ell-\frac{3}{4}+o(1)
$$

where $\nu_{1}=\sigma^{2}\left(\frac{3}{2}-\sum_{n=1}^{\infty} n^{-1} \mathrm{E}\left(S_{n}-3 n\right)^{+}\right)$and $S_{n}=\chi_{[n]}^{2}$.
From Proposition 3.1, if $m>p+2$, we have

$$
R_{T_{c}}-R_{n_{c}}=\mathrm{E}\left\{L\left(\tilde{\beta}_{N_{c}}, \beta\right)+c T_{c}-2 c n_{c}\right\}=c \mathrm{E}\left(\frac{\left(T_{c}-n_{c}\right)^{2}}{T_{c}}\right)+o(c)=\frac{c}{2}+o(c)
$$

Theorem 4.2. If $m>p+2$, we have

$$
\frac{R_{T_{c}}-R_{n_{c}}}{c}=\frac{1}{2}+o(1)
$$

$R_{T_{c}}^{\prime}$ stands for the risk when we use $\hat{\beta}_{T_{c}}$. Then we have

$$
R_{T_{c}}^{\prime}-R_{n_{c}}=\frac{c}{4 A}\left(\sum_{i=1}^{p} a_{i}^{4} b_{i} \sigma^{2}\right)+c \mathrm{E}\left(\frac{\left(T_{c}-n_{c}\right)^{2}}{T_{c}}\right)+o(c)
$$

Theorem 4.3. If $m>p+2$, then

$$
\frac{R_{T_{c}}^{\prime}-R_{n_{c}}}{c}=\frac{1}{2}+\frac{1}{4 A}\left(\sum_{i=1}^{p} a_{i}^{4} b_{i} \sigma^{2}\right)+o(1)
$$

From the above results, $\hat{\beta}_{N_{c}}$ is not asymptotically admissible.
Finally we consider the bounded risk problem. Then we have $a=\frac{2 W}{A}, L_{0}=p-\ell$, $n_{W}=\left(\frac{A \sigma^{2}}{2 W}\right), \alpha=2$ and $\gamma=1$.
Theorem 4.4. If $m>p+4$, we have

$$
\mathrm{E}\left(T_{W}\right)=n_{W}+\nu_{2}+\ell-2+o(1)
$$

where $\nu_{2}=\sigma^{2}\left\{\frac{3}{2}-\sum_{n=1}^{\infty} n^{-1} \mathrm{E}\left(S_{n}-2 n\right)^{+}\right\}$and $S_{n}=\chi_{[n]}^{2}$.
Theorem 4.5. If $m>p+4$, we have

$$
\mathrm{E} L\left(\tilde{\beta}_{T_{W}}, \beta\right)=W+\frac{2 W^{2}}{A \sigma^{2}}\left(4-\nu_{2}-\ell\right)+o\left(W^{2}\right)
$$

Corollary 4.1. If $m>p+4$ and $\ell \geq 4$, we have

$$
\mathrm{E} L\left(\tilde{\beta}_{T_{W}}, \beta\right) \leq W+o\left(W^{2}\right)
$$

Theorem 4.6. If $m>p+4$, we have

$$
\mathrm{E} L\left(\hat{\beta}_{T_{W}}, \beta\right)=W+\frac{W^{2}}{A \sigma^{2}}\left\{2\left(4-\nu_{2}-\ell\right)+\frac{\sigma^{2}}{2 A}\left(\sum_{i=1}^{p} a_{i}^{4} b_{i}\right)\right\}+o\left(W^{2}\right)
$$

## ACKNOWLEDGEMENT

The author would like to thank Prof. Srivastava for giving him useful comments, in particular, for English and references.

## REFERENCES

[1] Albert, A. (1966). Fixed size confidence ellipsoids for linear regression parameters. Ann. Math. Statist., 37, 1602-1630.
[2] Chow, Y.S. and Robbins, H. (1965). On the asymptotic theory of fixed-width sequential confidence intervals for the mean. Ann. Math. Statist., 36, 457-462.
[3] Craig, A.T. (1943). Note on the independence of certain quadratic forms. Ann. Math. Statist., 14, 195-197.
[4] Hogg, R.V. and Craig, A.T. (1956). On the decomposition of certain $\chi^{2}$ variables. Ann. Math. Statist., 29, 608-610.
[5] Nagao, H. and Srivastava, M.S. (2001). Fixed width confidence region for the mean of a multivariate normal distribution. To appear in Jour. Mult. Analysis.
[6] Srivastava, M.S. (1967). On fixed-width confidence bounds for regression parameters and mean vector. Jour. Royal Statist. Soc. Ser. B, 29, 132-140.
[7] Srivastava, M.S. (1971). On fixed-width confidence bounds for regression parameters. Ann. Math. statist. 42, 1403-1411.
[8] Srivastava, M.S. and Khatri, C.G. (1979). An Introduction to Multivariate Statistics. North-Holland, New York.
[9] Takada, Y. and Nagao, H. (2001). Sequential point estimation of a multivariate normal mean vector under a linex loss function. Submitted for publication.
[10] Varian, H.R. (1975). A Bayesian approach to real estate assessment, in" Studies in Bayesian Econometric and Statistics in honor of Leonard J. Savage" (S. E. Fienberg and A. Zellner, Ed.), 195-208, North Holland, Amsterdam.
[11] Woodroofe, M. (1977). Second order approximations for sequential point and interval estimation, Ann. Statist., 5, 984-995.
[12] Zellner, A. (1986). Bayesian estimation and prediction using asymmetric loss functions, Jour. American Statist. Assoc., 81, 446-451.

Department of Mathematical Sciences
Osaka Prefecture University
Osaka, Japan


[^0]:    2000 Mathematics Subject Classification. 62L12, 62C15, 62J05.
    Key words and phrases. Sequential estimation, Linear regression, Linex loss function.

